
Si	
  l’addi(on	
  avait	
  concerné	
  deux	
  nombres	
  à	
  2	
  chiffres	
  
seulement,	
  de	
  nombreux	
  élèves	
  n’auraient	
  pas	
  compris	
  l’intérêt	
  
de	
  ce>e	
  disposi(on	
  alors	
  qu’ils	
  sont	
  capables	
  de	
  trouver	
  le	
  
résultat	
  mentalement.	
  La	
  présence	
  de	
  nombres	
  à	
  1	
  ou	
  3	
  chiffres	
  
favorise	
  l’analyse	
  du	
  rôle	
  de	
  chaque	
  colonne.	
  	
  

Dans	
  la	
  colonne	
  des	
  dizaines,	
  
il	
  faut	
  faire	
  exprimer	
  oralement	
  ce	
  
que	
  les	
  chiffres	
  représentent	
  :	
  
«	
  2	
  groupes	
  de	
  dix	
  plus	
  3	
  groupes	
  
de	
  dix…	
  »	
  	
  

On	
  abou(t	
  à	
  12	
  groupes	
  de	
  
10	
  et	
  on	
  écrit	
  «	
  12	
  »	
  sous	
  la	
  
barre	
  en	
  étant	
  a>en(f	
  à	
  
me>re	
  le	
  «	
  1	
  »	
  dans	
  la	
  
colonne	
  des	
  centaines.	
  	
  



Poser	
  une	
  addi(on	
  en	
  colonnes	
  requiert	
  une	
  organisa(on	
  
spa(ale	
  complexe.	
  Elle	
  est	
  facilitée	
  ici	
  parce	
  que	
  les	
  carreaux	
  
que	
  les	
  élèves	
  u(lisent	
  forment	
  4	
  colonnes	
  :	
  une	
  pour	
  les	
  signes	
  
opératoires	
  et	
  les	
  trois	
  autres	
  pour	
  l’écriture	
  des	
  nombres.	
  
On	
  demande	
  par	
  ailleurs	
  de	
  commencer	
  ce>e	
  écriture	
  sur	
  la	
  2e	
  
ligne	
  en	
  laissant	
  la	
  1re	
  vide	
  pour	
  la	
  retenue.	
  Le	
  fait	
  d’imaginer	
  les	
  
groupes	
  de	
  dix	
  pour	
  chaque	
  nombre	
  permet	
  de	
  se	
  rappeler	
  les	
  
raisons	
  de	
  l’organisa(on	
  en	
  colonnes.	
  	
  



Rappelons	
  que,	
  dans	
  un	
  premier	
  temps	
  au	
  moins,	
  il	
  faut	
  faire	
  
exprimer	
  oralement	
  ce	
  que	
  les	
  chiffres	
  représentent	
  :	
  «	
  1	
  groupe	
  
de	
  dix	
  plus	
  9	
  groupes	
  de	
  dix…	
  »	
  	
  
Pour	
  la	
  1re	
  addi(on,	
  on	
  abou(t	
  à	
  21	
  groupes	
  de	
  10,	
  c’est-­‐à-­‐dire	
  
210	
  :	
  2	
  groupes	
  de	
  100	
  et	
  1	
  groupe	
  de	
  10.	
  	
  
On	
  écrit	
  21	
  sous	
  la	
  forme	
  :	
  2	
  de	
  retenue	
  dans	
  la	
  colonne	
  des	
  
centaines	
  et	
  1	
  dizaine	
  dans	
  le	
  résultat.	
  	
  


